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Cs C2 €1 € Cio C Cg C11 C8

Ideals for irreducible component#ﬂ)f Xpar
It = (—u7—u6—4u5—3u4—4u3—2u2+b, u” 4 ub + 5ud 4+ 4ut + Tud + 4u® + a4 2u,
utt 4+ 200 + 8u® + 1208 + 2207 4 2408 + 2445 + 16u* + 9u® 4+ u® + 2u + 1)

={b+1, —u*+a+u—2, v +2u+1)
=0+, ud+tatu—1, vt —u®+2u% —2u+1)

* 3 irreducible components of dim¢ = 0, with total 18 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIY=(—u" —ub —4u® — 3u* — 4u® — 2u? + b, u” + u® + 5u® + 4u? + Tu® +
4u? + a + 2u, u't + 200 4+ .- + 2u + 1)

(i) Arc colorings

=0

0
ailr = \u
—u —u — 5u® — Tu? u? —2u
az = u’ 4 ub +4u +3u —|—4u3+2u
1
a6: u
—ud® —ut —3ud —2u? — 2u
az = \u” + u® + 4u® + 3u* + 4u® + 2u?
3u” —ub + 12u® — 3ut + 120 — 202 + 2
a1 = \u? +4ud + 5u” 4+ 1768 + Tu® + 18ut + 2ud + u? +u
ul —|—u +4ub +4u® +3ut +3u — 202 —u+1
a4 = ud 4+ 5u8 +u® + Tut + 20 +2u2 + u
(u +u>
u +1
—ut — 2u?
—ud —2u
u3+u
w’ + 4ub® + 4u3
a12 = \ —y7 —3u® —2ud +u

2010 + 2u” + 1208 + 10u” + 244’ + 16w’ + 16u* + 8u® + u? + 1
asg = 2ut0 — 3%+ —u—1

(ii) Obstruction class = —1

(iii) Cusp Shapes
= 4u0 + 8u? + 33ud + 46u” + 87ub + 82u® + 79u* + 38u3 + 14u? — 8u + 11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ u't +30ur® 4+ 93u 4 1
Co,Cy wl —8u%+ -+ 13u—1
cs, cr utt —u! o — 64u — 128
€5, C65 C10 utt =200 4+ 2u -1
€8, C11, C12 u + 120 + 38u” + 2u® + 14u® + 12u* + 13u® +u? — 1
Co utt + 200 - — 1507 — 8




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 ytt =202y 4. 48901y — 1
C2,C4 ytt =30y 4+ 493y — 1
3,7 Yt 4+ 81910 + .-+ 192512y — 16384
€5, C65 C10 12y 0 42y — 1
8, C11, C12 gt 24y 2y -1
Co y't + 12y + - — 240y — 64




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.810323 + 0.5548531
a = —2.69043 — 1.724371
b= 2.74686 + 0.146731

15.5955 — 2.68211

1.82264 + 2.334021

u = —0.810323 — 0.5548531
—2.69043 + 1.724371
b= 2.74686 — 0.146731

15.5955 + 2.68211

1.82264 — 2.334021

u = —0.096709 + 1.3273401
a= 0.467034 4 0.1774971
b= 10.180346 — 0.2166131

—3.51172 — 1.715071

5.41681 + 3.297361

u = —0.096709 — 1.3273401
= 0.467034 — 0.1774971
0.180346 + 0.2166131

—3.51172 + 1.715071

5.41681 — 3.297361

0.303421 + 0.3997141
0.70061 — 1.796181
—0.761956 + 0.4365211

—1.58612 + 0.998411

0.02750 — 3.980741

0.303421 — 0.3997141
= 0.70061 + 1.796181

—1.58612 — 0.998411

0.02750 + 3.980741

0.09711 + 1.511801
= —0.238461 — 0.8660721
= —1.01867 + 1.257331

—8.01829 + 2.435101

—1.52628 — 1.691371

= 0.09711 — 1.511801
= —0.238461 + 0.8660721

b

U

a

b

U

a

b= —0.761956 — 0.4365211
U

a

b

U

a

b= —1.01867 — 1.257331

—8.01829 — 2.435101

—1.52628 4 1.691371

u = —0.29124 + 1.555351
a = —0.51989 — 1.857771
b 2.80237 4 0.463281

8.71098 — 6.751971

—1.02074 4 2.562761

u = —0.29124 — 1.555351
a = —0.51989 + 1.857771
b= 2.80237 —0.463281

8.71098 + 6.751971

—1.02074 — 2.562761




Solutions to I}

V=1(vol + y=1C)

Cusp shape

U
a
b

= —0.404507

0.562272
0.102109

0.648477

15.5600




IL I =(b+1, v +a+u—2, u*+2u+1)

(i) Arc colorings

<

(

(
=
a- ()

<
(
(
<
(

ay4 =

(ii) Obstruction class =1

(iii) Cusp Shapes = u? — 3u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
3
C1,C2 (u — 1)
C3, Ct u3
Cy 1)3
(u+1)
Cs,Cg, C8 w4 2u+1
Y u® — 3u? 4 5u — 2
S 42u—1
€10, C11, C12 u” + 2u




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 (y_ 1)3
C3,Cr7 y3
Cs,Cg, C8 y3+4y2+4y71
€10, C11, C12
€9 y? +y? + 13y — 4




(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y/=1C)

Cusp shape

u= 0.22670 + 1.467711
a = —0.329484 — 0.8022551
b = —1.00000

—11.08570 4 5.137941

—0.78288 — 3.737681

u= 0.22670 — 1.467711
a = —0.329484 4 0.8022551

—11.08570 — 5.137941

—0.78288 + 3.737681

b = —1.00000

u = —0.453398

a= 2.65897 —0.857735 3.56580
b = —1.00000

10



IL Iy =(b+1, vd+a+u—1, u* —ud+2u? —2u+ 1)

(i) Arc colorings

ag =

<

<

(

(-
n-(9)

<

<

(

<

(

—ud —u+1
as = -1
—u
a0 = \ud+u
uw?+1
ar = \ —y3 —2u+1
—u’ — 2u
ag = ud +u

2u3—u2—|—3u—3>

u? +1
ag = \—ud —2u+1

(ii) Obstruction class =1

(iii) Cusp Shapes = —5u® + 2u? — 6u + 5
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2 (u — 1)4
C3,C7 u'
Cy (U/ + 1)4
Cs, Ce, C8 = w2 —2u+1
Cg (u2 Lo+ 1)2
4 3 2
€10, C11, C12 us+u’+2u”+2u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 (y_ 1)4
C3,Cr7 y4
C5,Cq, C8 y4+3y3+2y2+1
€10, C11, C12
c (v +y+1)°
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(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

0.621744 + 0.4405971
0.500000 — 0.8660251 | —4.93480 + 2.029881 2.26314 — 3.674971
—1.00000

0.621744 — 0.4405971
0.500000 + 0.8660251 | —4.93480 — 2.029881 2.26314 + 3.674971
—1.00000

—0.121744 + 1.3066201
0.500000 + 0.8660251 | —4.93480 — 2.029881 | —0.76314 + 2.387211
—1.00000

—0.121744 — 1.3066201
0.500000 — 0.8660251 | —4.93480 + 2.029881 | —0.76314 — 2.387211
—1.00000

> & €|l & 8| & 8|l & &
I
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (u—1)7)(u' 4 30u!® + - +93u + 1)
C2 (u—1)")(u't = 8u' + -+ 13u—1)
c3, Cr u'(utt — 'l 4 — 64u — 128)
C4 (u+ 1)) (ut = 8u! + - 4 13u — 1)
Cs, Co (u® +2u+ 1) (u* — u® + 2u% — 2u+ 1) ('t — 200 4+ -+ 2u — 1)
cs (u® 4 2u + 1) (u? — v + 2u® — 2u + 1)
(w4 120 4 38u” + 208 + 1465 + 120t 4 130 +u? — 1)
9 (u? 4+ u+ 1)) (u® = 3u® + 5u — 2)(u't +2u'® + - -+ — 15u% — 8)
€10 (u® 4 2u — 1) (u? + v + 2u® + 2u + 1) (e —2u' + - +2u — 1)
ci1, €1z (u? + 2u — 1) (u* + u® + 2u® + 2u + 1)

(utt 4 120 + 3847 + 2u8 + 140° + 120 + 13u® +u? — 1)

15



V. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 ((y — 1)7)(y* — 20241 + - + 8901y — 1)
c2, ¢4 (=D =30y" +--- +93y — 1)
cs, cr YT (y" 81yt - 4192512y — 16384)
€55 Co5 €10 (v* +49> +4y — )y +3° + 2° + Dy + 129"+ -+ 2y — 1)
€8, C11, C12 (P + 4y +4y — D  + 33 + 202 + 1)(y + 2490 + -+ 29 — 1)
= (P +y+ D)W+ 2+ 13y — ) (g + 1240 + -+ — 240y — 64)
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